
Grower Ø5 Cod.202286

Allen screw M6X8 T.C.E.I. INOX
Cod. 200834

Rubber cap 
Cod.204790

DB-Killer N°32B
Cod.307762801

 
e.

35
 

 
32

  
e.

40
 

 
i.4

0 

 
i.5

0 

 
e.

50
 

 300 

Strap in stainless
steel Ø35
Cod.300035530

Short helical spring
tensile
Cod.204387

Short tube in
silicon rubber
Cod.204412

Pipe N° 1082
Cod.3014027201

Busher LGR/F
Cod.205331

Allen screw
M8X40 T.C.E.I.
Cod.200993

Medium silencer
NERO Øi 50
Cod.3014009471

Aluminium spacer
SBK SBK Ø27X8.5 
Cod.204321

Inox Busher 
50X38X40
Cod.205261

Knurled collar nut M8
Cod.200298

Aluminium Bracket
Cod.206317

ORIGINAL
M10 SCREW

2 Allen screw
M10X40 T.C.E.I.
Cod.204109

2 Aluminium spacer
To cover holes of
original frame 
Cod.206272

Art. 14027

YAMAHA TRICITY 125 '14/'16

Slip-on "NERO" - Passaggio STANDARD OMOLOGATO "EVOLUTION II"


	Model
	Vista del disegno13
	Vista del disegno15


